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WP B 2025/04/20 (H) SME B 284
Tt 04
BEt 284
202544 A = AR AHAYTR . - R
| B K% ouT N GR  HD Net (% s |
16 KT #E— 37 39 76 100 66.0
240 MHE EBE 37 41 78 120 66.0
3L KE MiT 38 39 77 80 690
A6 EE R 37 39 76 70 690
5f BB kA 39 43 82 90 730
641 HH S 43 40 83 100 730
76 RER Hth 39 42 81 80 730
8fii EE &= 40 41 81 70 740
I FRK B= 40 43 83 90 740
106 B —4% 39 42 81 70 740
1ML B4&E sl 42 44 86 11.0 75.0
1241 BEHE o 40 47 87 120 750
136 Rk ITh# 42 43 85 100 750
14461 #FHE EZ 43 42 85 90 76.0
15461 fgH E= 41 45 86 100 76.0
166 E5 FH 4 44 88 120 76.0
176 RAEERE 41 46 87 110 176.0
184 1E[H 12 46 43 89 120 770
19461 M B 40 46 86 9.0 770
2001 B — 43 46 89 120 710
2141 1|0 = 43 44 87 100 770
22461 /MR E= 42 44 86 9.0 770
2341 FEIHFERE 45 45 90 110 790
241 [RHEH o2 42 44 8 70 790
2541 Bk &R 4 47 91 120 79.0
26 =H & 45 47 92 110 810
27461 HB#H ERX 42 48 90 9.0 810

2841 HT XA 44 45 89 70 820



B —vAFh =557

BEH A 2025/04/20 (A) SmE B 248
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a3t 324

20254 E=HEAHIBISR s

IR E% ouT N GR HD Net {§% s, 1
164 #E MM 46 51 97 290 680
261 €NZEB 46 49 95 260 690
3L &k JtHE 41 45 86 140 720
461 ERN St 45 44 89 170 720
S5t e Xk 39 46 85 130 720
64r AIE A 45 44 89 160 730
h 25 i1 48 46 94 200 740
8fir PIER EH 50 51 101 260 750
ofi IH it 42 49 91 160 75.0
104 JRHE HX 41 52 93 170 760
11462 /NE 5L 41 49 90 140 760
1241 1giE =RE 50 49 99 220 770
13461 ALl R 47 46 93 150 780
1446 BAX EFE 47 53 100 220 780
15461 /hvith & 47 46 93 150 780
16461 &H S 42 51 93 150 780
17461 k3 = 47 45 92 140 780
184 BEAR 1EX 48 45 93 140 790
19461 % IES 43 50 93 140 790
2041 BRA #Z 46 50 96 16.0 80.0
2142 FFN 185 53 53 106 250 810
2241 FIH &= 48 48 96 150 81.0
2340 K&t BZ 45 54 99 17.0 820
244 PfH BHIE 51 56 107 230 840
2541 BEIR B R 49 51 100 150 85.0
26461 &H [EH 52 51 103 180 850
27461 MR 1B 61 53 114 290 850
2841 & FH 55 52 107 210 86.0
29 HE Gl 61 64 125 380 870
3041 ki EEA 55 54 109 220 87.0
1L /hith  {E{E 46 59 105 16.0 89.0
3241 #E #05h 56 55 111 200 91.0
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FRikB 2025/04/20 (H) SmE Bt 2148

84

&E 35%

20254 E=HEAHGLIFR -

IR K& OT IN  GR  HD  Net fH% =]
165 &) 37 36 73 120 610
24 PIEH == 43 40 83 190 640
3 EM E 43 46 89 250 640
A TN BE 42 49 91 250 66.0
5 KR #HE 45 44 89 230 66.0
66 BH HIE 39 39 78 120  66.0
76 FE IELE 40 38 78 100 680
8L Il B= 45 51 96 280 680
ofi R 3Ish 42 43 85 160  69.0
106 B ®% 42 44 86 170  69.0
1461 NhBEF 44 45 89 190 700
1241 fn@gk 1EER 46 43 89 190 700
13451 BIER F#U 45 51 96 250 710
1441 &Lt %A 43 44 87 150 720
15467 ED FET 41 45 86 140 720
164 ER shH 46 46 92 190 730
17461 /MEH —8 43 44 87 140 730
184 /MR B 55 52 107 340 730
196 FH 3k 44 50 94 200 740
204 IUEE EH 51 51 102 280 740
214 WA IEE 42 45 87 130 740
2241 HH BEF 49 46 95 210 740
231 Bl RE 49 48 97 220 750
2441 A E @BZ 43 47 90 140 76.0

254 HRIKE{CER 47 45 92 160 760 )
261 EHEER 47 48 95 190 760
2741 fEx M= 39 45 84 80 76.0
284 ¥/ {EB8 46 50 96 190 770
294 HH B 49 52 101 230 780
3047 Bl B 47 45 92 140 780
31 B/ fiF 51 56 107 280 790
324 BEH HE 52 54 106 230 830
33 XH #7 53 50 103 200 830
3441 IMIIEERSE 49 54 103 140 890
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